

THE GLOBAL BEHAVIOR OF THE DIFFERENCE EQUATION

F. BOZKURT, I. OZTURK, AND S. OZEN

Abstract. In this paper, we investigate the global stability and the periodic nature of the positive solutions of the difference equation

$$y_{n+1} = \alpha + \frac{y_{n-1}}{y_n} - \frac{y_n}{y_{n-1}}, n = 0, 1, 2, \dots,$$

where $\alpha > 0$ and the initial conditions y_0, y_{-1} are arbitrary positive real numbers.

1. Introduction

Consider the difference equation

$$y_{n+1} = \alpha + \frac{y_{n-1}}{y_n} - \frac{y_n}{y_{n-1}}, n = 0, 1, 2, \dots \quad (1.1)$$

where $\alpha > 0$ and the initial conditions y_0, y_{-1} are arbitrary positive real numbers. We investigate the asymptotic stability and the periodic character of the solutions of Eq. (1.1).

We prove that the positive equilibrium point of Eq. (1.1) is local asymptotic stable or a saddle point under specified conditions of the parameter and show that the solution of the subtraction of two difference equations in [1] and [3], which solutions are globally asymptotically stable, are also asymptotically stable.

The global asymptotic stability, the boundedness character and the periodic nature of the positive solutions of the following difference equation

$$x_{n+1} = \alpha + \frac{x_{n-1}}{x_n}, n = 0, 1, 2, \dots \quad (1.2)$$

Received by the editors: 30.10.2006.

2000 *Mathematics Subject Classification.* 39A10, 39A11.

Key words and phrases. Difference equations, period two solutions, global stability.

was investigated in [1], where $\alpha \in [0, \infty)$ and the initial conditions x_{-1} and x_0 are arbitrary positive real numbers. H. M. El- Owaidy et al. [2] studied the global stability and the periodic character of positive solutions of the difference equation

$$x_{n+1} = \alpha + \frac{x_{n-k}}{x_n}, \quad n = 0, 1, 2, \dots \quad (1.3)$$

where $\alpha \in [1, \infty)$, $k \in \{1, 2, \dots\}$ and the initial conditions $x_{-k}, \dots, x_0, x_{-1}$ are arbitrary positive real numbers.

R. M. Abu-Saris and R. De Vault find conditions for the global asymptotic stability of the unique positive equilibrium

$$\bar{y} = A + 1$$

of the equation

$$x_{n+1} = A + \frac{y_n}{y_{n-k}}, \quad n = 0, 1, 2, \dots \quad (1.4)$$

where $A, y_{-k}, \dots, y_0, y_{-1} \in (0, \infty)$ and $k \in \{2, 3, \dots\}$ [3].

Here, we recall some definitions and results which will be useful in the sequel.

Let $I \subset \mathbb{R}$ and let $f : I \times I \rightarrow I$ be a continuous function. Consider the difference equation

$$y_{n+1} = f(y_n, y_{n-1}), \quad n = 0, 1, 2, \dots \quad (1.5)$$

where the initial conditions $y_0, y_{-1} \in I$. We say that \bar{y} is an equilibrium of Eq. (1.5) if

$$y_{n+1} = f(\bar{y}, \bar{y}), \quad n = 0, 1, 2, \dots \quad (1.6)$$

Let

$$s = \frac{\partial f}{\partial u}(\bar{y}, \bar{y}) \quad \text{and} \quad t = \frac{\partial f}{\partial v}(\bar{y}, \bar{y})$$

denote the partial derivatives of $f(u, v)$ evaluated at an equilibrium \bar{y} of Eq. (1.5).

Then the equation

$$x_{n+1} = sx_n + tx_{n-1}$$

is called the linearized equation associated with Eq. (1.5) about the equilibrium point \bar{y} [4].

The sequence $\{y_n\}$ is said to be periodic with period p if

$$y_{n+p} = y_n$$

for $n = 0, 1, \dots$ [5].

Theorem 1.1. [4] (**Linearized Stability**)

$$x_{n+1} = sx_n + tx_{n-1} \tag{1.7}$$

is the linearized equation associated with the difference equation

$$y_{n+1} = f(y_n, y_{n-1}), n = 0, 1, 2, \dots \tag{1.8}$$

about the equilibrium point \bar{y} . The characteristic equation associated with (1.7) is

$$\lambda^2 - s\lambda - t = 0. \tag{1.9}$$

(i) If both roots of the quadratic equation (1.9) lie in the unit disk $|\lambda| < 1$, then the equilibrium \bar{y} of Eq. (1.8) is locally asymptotically stable.

(ii) If at least one of the roots of Eq. (1.9) has absolute value greater than one, then the equilibrium of Eq. (1.8) is unstable.

(iii) A necessary and sufficient condition for both roots of Eq. (1.9) to lie in the open unit disk $|\lambda| < 1$, is

$$|s| < 1 - t < 2.$$

In this case the locally asymptotically stable equilibrium point \bar{y} is also called a sink.

(iv) A necessary and sufficient condition for both roots of Eq. (1.9) to have absolute value greater than one is

$$|t| > 1 \text{ and } |s| < |1 - t|.$$

In this case \bar{y} is called a repeller.

(v) A necessary and sufficient condition for one root of Eq. (1.9) to have absolute value greater than one and for the other to have absolute value less than one is

$$s^2 + 4t > 0 \text{ and } |s| > |1 - t|.$$

In this case the unstable equilibrium point is called a saddle point.

Theorem 1.2 [6] Assume that $p, q \in R$ and $k \in \{0, 1, \dots\}$. Then

$$|p| + |q| < 1$$

is a sufficient condition for asymptotic stability of the difference equation

$$x_{n+1} - px_n + qx_{n-k} = 0. \quad (1.10)$$

Suppose in addition that one of the following two cases holds:

- (i) k odd and $q < 0$
- (ii) k even and $pq < 0$.

Then (1.10) is also a necessary condition for asymptotic stability of Eq. (1.10).

Theorem 1.3. [7] Consider the difference equation

$$y_{n+1} = f(y_n, y_{n-k}), n = 0, 1, 2, \dots \quad (1.12)$$

where $k \in \{1, 2, \dots\}$. Let $I=[a, b]$ be some interval of real numbers, and assume that $f:[a, b] \times [a, b] \rightarrow [a, b]$ is a continuous function satisfying the following properties:

- (i) $f(u, v)$ is non-increasing in each arguments.
- (ii) If $(m, M) \in [a, b] \times [a, b]$ is a solution of the system

$$M = f(m, m), m = f(M, M) \quad (1.13)$$

then $m=M$. From this, Eq. (1.12) has a unique positive equilibrium point and every solution of Eq. (1.12) converges to \bar{y} .

2. Linearized stability and period two solutions

In this section, we consider Eq. (1.1) and show that unique positive equilibrium point $\bar{y} = \alpha$ of Eq. (1.1) is asymptotically stable with basin which depends on certain conditions posed on the coefficient.

The linearized equation associated with Eq. (1.1) about the equilibrium \bar{y} is

$$x_{n+1} + \frac{2}{\alpha}x_n - \frac{2}{\alpha}x_{n-1} = 0. \quad (2.1)$$

Its characteristic equation is

$$\lambda^2 + \frac{2}{\alpha}\lambda - \frac{2}{\alpha} = 0. \quad (2.2)$$

By Theorem 1.1. and Theorem 1.2. we have the following results.

Theorem 2.1. (i) The equilibrium point \bar{y} of Eq. (1.1) is locally asymptotically stable iff $\alpha > 4$.

(ii) The equilibrium point \bar{y} of Eq. (1.1) is unstable (and in fact is a saddle point) if $0 < \alpha < 4$.

Proof. (i) The inequality (1.10) can be written as

$$\left| \frac{2}{\alpha} \right| + \left| \frac{-2}{\alpha} \right| < 1. \quad (2.3)$$

This inequality holds if $\alpha > 4$. By using Theorem 1.2., we can also see that $q = \frac{-2}{\alpha} < 0$. These results give us necessary and sufficient conditions for the asymptotic stability of Eq. (2.1) .

(ii) From Theorem 1.1./ (v) we have,

$$\left(\frac{-2}{\alpha} \right)^2 + 4 \left(\frac{2}{\alpha} \right) > 0 \quad \text{and} \quad \left| \frac{-2}{\alpha} \right| > \left| 1 - \frac{2}{\alpha} \right|.$$

Easy computations give

$$\left(\frac{-2}{\alpha} \right)^2 + 4 \left(\frac{2}{\alpha} \right) = \frac{4}{\alpha^2} + \frac{8}{\alpha} > 0$$

and

$$\left| \frac{-2}{\alpha} \right| > \left| 1 - \frac{2}{\alpha} \right|.$$

Then we have the inequality

$$2 > |\alpha - 2|.$$

This implies that by Theorem 1.1./ (v), the equilibrium point is unstable (and is a saddle point).

Theorem 2.2. Suppose that $\{y_n\}_{n=-1}^{\infty} \neq 2$ is a solution of Eq. (1.1). The following statements are true.

(i) If $0 < \alpha \leq 4$, then Eq. (1.1) has no real period two solutions. Suppose k is odd.

(ii) If $\alpha > 4$, then Eq. (1.1) has real period two solutions.

Proof. Let

$$\dots, \phi, \psi, \phi, \psi, \dots$$

be a period-2 solution of Eq. (1.1). Then,

$$\phi = \alpha + \frac{\phi}{\psi} - \frac{\psi}{\phi} \quad (2.4)$$

$$\psi = \alpha + \frac{\psi}{\phi} - \frac{\phi}{\psi}. \quad (2.5)$$

Subtracting above two statements, we get

$$\psi = \frac{2\phi}{\phi - 2}. \quad (2.6)$$

From (2.6), we have

$$\phi^2 - 2\alpha\phi + 4\alpha = 0. \quad (2.7)$$

We consider (2.7) under two cases, where Δ indicates the discriminant of (2.7).

(i) Let $\Delta = 0$. Under this condition we have $\alpha = 0$ and $\alpha = 4$. If Eq. (1.1) has period 2 solutions then it must be $\Delta \neq 0$. This implies that if $\alpha \in (0, 4]$, then Eq. (1.1) has no period 2 solutions.

(ii) Let $\Delta > 0$. In this case we have $\alpha > 4$. While $\alpha > 4$, Eq. (1.1) has period 2 solutions. These solutions are

$$\phi_1 = \alpha + \sqrt{\alpha(\alpha - 4)} \quad \text{and} \quad \phi_2 = \alpha - \sqrt{\alpha(\alpha - 4)}$$

and they must be of the form

$$\dots, \alpha - \sqrt{\alpha(\alpha - 4)}, \alpha + \sqrt{\alpha(\alpha - 4)}, \dots$$

Theorem 2.3. Suppose $\alpha > 4$. Let be $\{y_n\}_{n=-1}^{\infty} \neq 2$ be a solution of Eq. (1.1). If $\{y_n\}_{n=-1}^{\infty} \neq 2$ is periodic with period-2, then y_0 is

$$y_0 = \frac{-(y_{-1} - \alpha)y_{-1} \pm y_{-1}\sqrt{(y_{-1} - \alpha)^2 + 4}}{2}. \quad (2.8)$$

Proof. If the solution of Eq. (1.1) is periodic with period- 2, we can write Eq.(1.1) as

$$y_{-1} = \alpha + \frac{y_{-1}}{y_0} - \frac{y_0}{y_{-1}}.$$

Computations give

$$y_0^2 + y_{-1}y_0(y_{-1} - \alpha) - y_{-1}^2 = 0,$$

and we have $\Delta = y_{-1}^2 \left[(y_{-1} - \alpha)^2 + 4 \right] > 0$. So, we obtain

$$y_0 = \frac{-(y_{-1} - \alpha)y_{-1} \pm y_{-1} \sqrt{(y_{-1} - \alpha)^2 + 4}}{2}.$$

Theorem 2.4. Let $\{y_n\}_{n=-1}^{\infty}$ be a solution of Eq. (1.1). Then the following statements are true.

1. Let $\alpha = 2\sqrt{L-1}$ and $L > 1$.

(i) If $\lim_{n \rightarrow \infty} y_{2n} = L$, then $\lim_{n \rightarrow \infty} y_{2n+1} = \frac{L}{\sqrt{L-1}}$.

(ii) If $\lim_{n \rightarrow \infty} y_{2n+1} = L$, then $\lim_{n \rightarrow \infty} y_{2n} = \frac{L}{\sqrt{L-1}}$.

2. Let $\alpha > 2\sqrt{L-1}$ and $L > 1$.

(i) If $\lim_{n \rightarrow \infty} y_{2n} = L$, then $\lim_{n \rightarrow \infty} y_{2n+1} = \frac{L[\alpha \pm \sqrt{\alpha^2 - 4(L-1)}]}{2(L-1)}$.

(ii) If $\lim_{n \rightarrow \infty} y_{2n+1} = L$, then $\lim_{n \rightarrow \infty} y_{2n} = \frac{L[\alpha \pm \sqrt{\alpha^2 - 4(L-1)}]}{2(L-1)}$.

Proof. 1. (i) Let $\lim_{n \rightarrow \infty} y_{2n} = L$ and $\lim_{n \rightarrow \infty} y_{2n+1} = x$. By Eq (1.1) we have

$$x = \alpha + \frac{x}{L} - \frac{L}{x}$$

and so we get

$$\left(\frac{L-1}{L}\right)x^2 - \alpha x + L = 0. \quad (2.9)$$

Since $\Delta = \alpha^2 - 4(L-1)$, the discriminant is $\Delta = 0$. So, (2.9) has only one root, and that is

$$x = \lim_{n \rightarrow \infty} y_{2n+1} = \frac{L}{\sqrt{L-1}}.$$

(ii) The proof is similar and will be omitted.

2. (i) Let $\lim_{n \rightarrow \infty} y_{2n} = L$ and $\lim_{n \rightarrow \infty} y_{2n+1} = x$. While $\alpha > 2\sqrt{L-1}$, then from (2.9) we have $\Delta > 0$. So,

$$x = \lim_{n \rightarrow \infty} y_{2n+1} = \frac{L[\alpha \pm \sqrt{\alpha^2 - 4(L-1)}]}{2(L-1)}.$$

(ii) The proof follows in the same way.

3. Analysis of the semi-cycles of eq.(1.1)

In this section, we give some results about the semi-cycles of Eq. (1.1).

Let $\{y_n\}_{n=-1}^{\infty}$ be a positive solution of Eq. (1.1). A positive semi-cycle of $\{y_n\}_{n=-1}^{\infty}$ consists of a “string” of terms $\{y_p, y_{p+1}, \dots, y_m\}$, all greater than or equal to \bar{y} , with $p \geq -1$ and $m \leq \infty$ and such that either $p=-1$ or $p > -1$ and $y_{p-1} < \bar{y}$ and either $m=\infty$ or $m < \infty$ and $y_{m+1} < \bar{y}$.

A negative semi-cycle of $\{y_n\}_{n=-1}^{\infty}$ consists of a “string” of terms $\{y_l, y_{l+1}, \dots, y_t\}$, all less than \bar{y} and such that either $l=-1$ or $l > -1$ and $y_{l-1} \geq \bar{y}$ and either $t=\infty$ or $t < \infty$ and $y_{t+1} \geq \bar{y}$.

A solution $\{y_n\}_{n=-1}^{\infty}$ of Eq. (1.1) is non-oscillatory if there exists $N \geq -1$ such that either

$$y_n > \bar{y} \text{ for all } n \geq N \text{ or}$$

$$y_n < \bar{y} \text{ for all } n \geq N.$$

$\{y_n\}_{n=-1}^{\infty}$ is called oscillatory if it is not non-oscillatory.

Theorem 3.1. Let $\{y_n\}_{n=-1}^{\infty}$ be a positive solution of Eq. (1.1) which consists of a single semi-cycle. Then $\{y_n\}_{n=-1}^{\infty}$ converges monotonically to $\bar{y} = \alpha$.

Proof. Suppose $0 < y_{n-1} < \alpha$ for all $n \geq 0$. Note that for all $n \geq 0$,

$$0 < \alpha + \frac{y_{n-1}}{y_n} - \frac{y_n}{y_{n-1}} < \alpha$$

and so

$$0 < y_{n-1} < y_n < \alpha.$$

From this it is clear that the positive solutions converge monotonically to \bar{y} .

Theorem 3.2. Let be $\{y_n\}_{n=-1}^{\infty}$ a positive solution of Eq. (1.1) which consists at least two semi-cycles. Then $\{y_n\}_{n=-1}^{\infty}$ is oscillatory.

Proof. We consider the following two cases.

Case I. Suppose that $y_{-1} < \alpha \leq y_0$. Then

$$y_1 = \alpha + \frac{y_{-1}}{y_0} - \frac{y_0}{y_{-1}} < \alpha$$

and

$$y_2 = \alpha + \frac{y_0}{y_1} - \frac{y_1}{y_0} > \alpha.$$

Case II. Suppose that $y_0 < \alpha \leq y_{-1}$. Then

$$y_1 = \alpha + \frac{y_{-1}}{y_0} - \frac{y_0}{y_{-1}} > \alpha$$

and

$$y_2 = \alpha + \frac{y_0}{y_1} - \frac{y_1}{y_0} < \alpha.$$

Hence the proof is complete.

4. Global asymptotically stability of eq. (1.1)

In this section, we find a global asymptotic stability result for Eq. (1.1).

Lemma 4.1. Let $\alpha \in (0, \infty)$ and $f(u, v) = \alpha + \frac{v}{u} - \frac{u}{v}$. If $u, v \in (0, \infty)$, then $f(u, v)$ is nonincreasing in each arguments.

Proof. The proof is simple and will be omitted.

Theorem 4.1. Let $\alpha > 4$. Then the unique positive equilibrium \bar{y} of Eq. (1.1) is globally asymptotically stable.

Proof. For $u, v \in (0, \infty)$, set $f(u, v) = \alpha + \frac{v}{u} - \frac{u}{v}$. Then $f: I \times I \rightarrow I$ is a continuous function and is non-increasing in each arguments. Let $(m, M) \in I \times I$ is a solution of the system

$$M = f(m, m)$$

$$m = f(M, M),$$

then

$$M = \alpha + \frac{m}{m} - \frac{m}{m}$$

and

$$m = \alpha + \frac{M}{M} - \frac{M}{M}.$$

Since $M-m=0$, we get $m=M$. By using Theorem 1.3, we have which shows that is globally asymptotically stable equilibrium point of Eq. (1.1).

$$\lim_{n \rightarrow \infty} y_n = \bar{y}$$

which shows that $\bar{y} = \alpha$ is globally asymptotically stable equilibrium point of Eq. (1.1).

Acknowledgement. The first-named author would like to thank the Scientific and Technical research Council of Turkey (TUBITAK) for financial helps (code:2211).

References

- [1] Amleh, A.M., Grove, E.A., Ladas, G., *On the Recursive Sequence $x_{n+1} = \alpha + \frac{x_{n-1}}{x_n}$* , Journal of Mathematical Analysis and Applications, **233**(1999), 790-798.
- [2] El-Owaidy, H.M., Ahmed, A.M., Mousa, M.S., *On asymptotic behavior of the difference equation $x_{n+1} = \alpha + \frac{x_{n-k}}{x_n}$* , Applied Mathematics and Computation, **147**(2004), 163-167.
- [3] Abu-Saris, R.M., De Vault, R., *Global stability of $x_{n+1} = A + \frac{y_n}{y_{n-k}}$* , Applied Mathematics Letters, **16**(2003), 173-178.
- [4] Gibbons, C.H., Kulenović, M.R.S., Ladas, G., Voulov, H.D., *On the Trichotomy Character of $x_{n+1} = (\alpha + \beta x_n + \gamma x_{n-1}) / (A + x_n)$* , J. Difference Equations and Applications, **8**(1)(2002), 75-92.
- [5] El-Affi, M.M., Ahmed, A.M., *On the difference equation $x_{n+1} = \frac{\alpha + \alpha x_n + \dots + \alpha x_{n-k+2}}{x_{n-k+1}}$* , Applied Mathematics and Computation, **144**(2003), 537-542.
- [6] Fan, Y., Wang, L., Li, W., *Global behavior of a higher order nonlinear difference equation*, J. Math. Anal. Appl., **299**(2004), 113-126.
- [7] De Vault, R., Kosmala, W., Ladas, G., Schultz, S.W., *Global Behavior of $y_{n+1} = \frac{p+y_{n-k}}{qy_n+y_{n-k}}$* , Nonlinear Analysis, **47**(2001), 4743-4751.

DEPARTMENT OF MATHEMATICS, FACULTY OF EDUCATION
 ERCIYES UNIVERSITY
E-mail address: fbozkurt@erciyes.edu.tr

DEPARTMENT OF MATHEMATICS ERCIYES UNIVERSITY (KMYO)

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE AND ARTS
 ERCIYES UNIVERSITY, KAYSERI, TURKEY, 38039